

Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Application of Chebyshev Polynomials to Certain Subclass of Non-Bazilević Functions

Abdul Rahman S. Juma^a, Mushtaq S. Abdulhussain^b, Saba N. Al-khafaji^b

^aUniversity of Anbar, Department of Mathematics, Ramadi-Iraq ^bAL-Mustansiriyah University, Department of Mathematics-Iraq

Abstract. In this paper, we introduce a new certain subclass $\mathcal{N}(\alpha,\lambda,t)$ of Non-Bazilević analytic functions of type $(1-\alpha)$ by using the Chebyshev polynomials expansions. We investigated some basic useful characteristics for this class, also we obtain coefficient bounds and Fekete-Szegö inequalities for functions belong to this class. This class is considered a general case for some of the previously studied classes. Further we discuss its consequences.

1. Introduction and Definitions

Let \mathcal{A} denote the class of all functions f(z) of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n,$$
(1)

which are analytic and univalent in the open unit disk $\mathcal{U} = \{z : z \in \mathbb{C} : |z| < 1\}$. Let S be the class of analytic functions $f(z) \in \mathcal{A}$ and normalized with the following conditions

$$f(0) = 0$$
 and $f'(0) = 1$.

Let f(z) and g(z) are analytic functions in \mathcal{U} , we say that the function f(z) is a subordinate to g(z) in \mathcal{U} , written as f(z) < g(z), if there exists a Schwarz function w(z), which is analytic in \mathcal{U} with w(0) = 0 and |w(z)| < 1, $(z \in \mathcal{U})$ such that f(z) = g(w(z)).

Furthermore, if g(z) is univalent in \mathcal{U} , then we have the following equivalent

$$f(z) < g(z), (z \in \mathcal{U}) \iff f(0) = g(0)$$
 and $f(\mathcal{U}) \subset g(\mathcal{U})$. (see[7])

The Fekete-Szegö functional $|a_3 - \mu a_2^2|$ for normalized Taylor-Mclaurin series

$$f(z) = z + a_2 z^2 + a_3 z^3 + \dots$$

2010 Mathematics Subject Classification. Primary 30C45; Secondary 30C50

Keywords. Univalent function, Subordination, Fekete-Szegö inequalities, Chebyshev polynomial, Non-Bazilević functions Received: 17 November 2017; Accepted: 10 June 2018

Communicated by Miodrag Mateljević

Email addresses: dr_juma@hotmail.com (Abdul Rahman S. Juma), mushtdma8@yahoo.com (Mushtaq S. Abdulhussain), sabanf.mc11p@uokufa.edu.iq (Saba N. Al-khafaji)

is famous for its rich history in the geometric functions theory. Its source was in the disproof by Fekete and Szegö of the 1933 guess of Littlewood and Paley that the coefficients of odd univalent functions are limited by unity (see [9], has since received great attention, especially in many subclasses of the family of univalent functions). For that reason Fekete-Szegö functional was studied by many authors and a some assessments were found in a many subclasses of normalized univalent functions (see [3], [8], [12], [13] and [16]).

The significance of Chebyshev polynomials have progressed toward becoming progressively important in numerical analysis, in the both field theoretical and practical points of view. There are four sorts of Chebyshev polynomials.

The greater part of books and research papers dealing with orthogonal polynomials of Chebyshev, contain chiefly results of first and second kinds of Chebyshev polynomials $T_n(t)$ and $U_n(t)$ respectively and their numerous uses in different applications. Additionally, one can see those given by the papers in ([1], [2], [6] and [10]). The first and second kinds of the Chebyshev polynomials are well known in the case of a genuine variable t on (-1,1), which are defined as follows

$$T_n(t) = \cos n\theta.$$

$$U_n(t) = \frac{\sin(n+1)\theta}{\sin \theta},$$

where *n* means degree of polynomial and $t = \cos \theta$.

Definition 1.1. A function $f(z) \in \mathcal{A}$ given by (1), is in the aforementioned class $\mathcal{N}(\alpha, \lambda, t)$, if it satisfies the following subordination:

$$\mathcal{N}(\alpha, \lambda, t) = \left\{ f(z) \in \mathcal{A} : (1 - \lambda) \left(\frac{f(z)}{z} \right)^{1 - \alpha} + \lambda \frac{z f'(z)}{f(z)} \left(\frac{f(z)}{z} \right)^{1 - \alpha} < H(z, t) := \frac{1}{1 - 2tz + z^2} \right\}, \tag{2}$$

where $0 \le \alpha \le 1$, $\lambda \ge 0$, $t \in (\frac{1}{2}, 1]$ and $z \in \mathcal{U}$.

The function f(z) in this class is said to be Non-Bazilević of type $(1 - \alpha)$.

We note that if $t = \cos \alpha$, $\alpha \in (-\pi/3, \pi/3)$, then

$$H(z,t) := \frac{1}{1 - 2\cos\alpha z + z^2}$$
$$= 1 + \sum_{n=1}^{\infty} \frac{\sin((n+1)\alpha)}{\sin\alpha} z^n, \quad (z \in \mathcal{U}).$$

Thus

$$H(z,t) = 1 + 2\cos\alpha z + (3\cos^2\alpha - \sin^2\alpha)z^2 + ... \quad (z \in \mathcal{U}).$$

Furthermore, from [17], we can write

$$H(z,t) = 1 + U_1(t)z + U_2(t)z^2 + \dots \quad (z \in \mathcal{U}, t \in (-1,1)),$$

where

$$U_{n-1} = \frac{\sin(n\arccos t)}{\sqrt{1-t^2}}, \quad (n \in \mathbb{N} = \{1, 2, 3, ..\})$$

denotes the second kind of the Chebyshev polynomials. It is known that

$$U_n(t) = 2tU_{n-1} - U_{n-2}(t),$$

and

$$U_1(t) = 2t$$
,

$$U_2(t) = 4t^2 - 1, (3)$$

$$U_3(t) = 8t^3 - 4t.$$

:

The ordinary generating function for Chebyshev polynomials $T_n(t)$, $t \in [-1,1]$, of the first kind have the following form

$$\sum_{n=0}^{\infty} \mathrm{T}(t) z^n = \frac{1-tz}{1-2tz+z^2}, \quad (z \in \mathcal{U}).$$

The Chebyshev polynomials of the first and second kinds which they symbolized $T_n(t)$ and $U_n(t)$ respectively are connected by the following relations:

$$\frac{\mathrm{d}\mathrm{T}_n(t)}{\mathrm{d}t} = n\mathrm{U}_{n-1}(t),$$

$$T_n(t) = U_n(t) - tU_{n-1}(t),$$

$$2T_n(t) = U_n(t) - U_{n-2}(t).$$

Remark 1.2. We must be remarked that the class $\mathcal{N}(\alpha, \lambda, t)$ is a generalization of many classes considered earlier. By giving specific values to the parameters α and λ in the class $\mathcal{N}(\alpha, \lambda, t)$. We acquire numerous essential subclass examined by various authors. Let us see a portion of the cases:

(i) If $\alpha = 1$ and $\lambda = 1$ in the class $\mathcal{N}(\alpha, \lambda, t)$, then we get

$$\frac{zf'(z)}{f(z)} < H(z,t) := \frac{1}{1 - 2tz + z^2},$$

it reduces to the special case from the class $\mathcal{B}^{\mu}_{\Sigma}(\lambda,t)$, which introduced by Bulut, Magesh and Abirami [4].

(ii) If $\alpha = 0$ in the class $\mathcal{N}(\alpha, \lambda, t)$, then we get

$$(1-\lambda)\frac{f(z)}{z} + \lambda f'(z) < H(z,t) := \frac{1}{1-2tz+z^2},$$

it reduces to the class $\mathcal{B}_{\Sigma}(\lambda,t)$, which introduced by Bulut, Magesh and Balaji [5].

(iii) If $\alpha = 0$ and $\lambda = 1$ in the class $\mathcal{N}(\alpha, \lambda, t)$, then we get

$$f'(z) < H(z,t) := \frac{1}{1 - 2tz + z^2},$$

it reduces to the special case from the class $\mathcal{B}^{\mu}_{\Sigma}(\lambda,t)$, which introduced by Bulut , Magesh and Abirami [4].

The aim in the present paper, we investigate the geometric properties of a new subclass $\mathcal{N}(\alpha, \lambda, t)$ by applying the Chebyshev polynomial, to provide estimates for initial coefficients of Non-Bazilević functions in $\mathcal{N}(\alpha, \lambda, t)$. In addition to that, the problem of Fekete-Szegö in this class is additionally explained.

2. Preliminaries

We need the following Lemmas to prove our main results:

Lemma 2.1. [11]. If $w \in S$, then for any complex number μ

$$|w_2 - \mu w_1^2| \le \max\{1; |\mu|\}.$$

The result is sharp for the functions $w(z) = z^2$ or w(z) = z.

Lemma 2.2. [14] Let $-1 \le B_1 \le B_2 < A_2 \le A_1 \le 1$. Then

$$\frac{1+A_2z}{1+B_2z} < \frac{1+A_1z}{1+B_1z}.$$

Lemma 2.3. [15] Let F(z) be analytic and convex in \mathcal{U} , $f(z) \in \mathcal{A}$, $g(z) \in \mathcal{A}$. If

$$f(z) < F(z), \quad g(z) < F(z), \quad 0 \le \lambda \le 1,$$

then

$$\lambda f(z) + (1 - \lambda)g(z) < F(z).$$

3. Main Results

Theorem 3.1. Let $f(z) \in \mathcal{A}$ belong to the $\mathcal{N}(\alpha, \lambda, t)$. Then

$$|a_2| \le \frac{2t}{1 + \lambda - \alpha}$$

and

$$|a_3| \le \frac{2\alpha t^2}{(1+\lambda-\alpha)^2} + \frac{4t^2 + 2t - 1}{1+2\lambda-\alpha}.$$

Proof. Let the function $f(z) \in \mathcal{N}(\alpha, \lambda, t)$. From (2), we get

$$(1-\lambda)\left(\frac{f(z)}{z}\right)^{1-\alpha} + \lambda \frac{zf'(z)}{f(z)}\left(\frac{f(z)}{z}\right)^{1-\alpha} = 1 + U_1(t)w(z) + U_2(t)w^2(z) + \dots$$
 (4)

Replacing the value of f(z) and f'(z) with their equivalent series expressions in (4), we have

$$(1 - \lambda) \left(\frac{z + \sum_{n=2}^{\infty} a_n z^n}{z}\right) \left(\frac{z}{z + \sum_{n=2}^{\infty} a_n z^n}\right)^{\alpha} + \lambda \left(1 + \sum_{n=2}^{\infty} n a_n z^{n-1}\right) \left(\frac{z}{z + \sum_{n=2}^{\infty} a_n z^n}\right)^{\alpha}$$

$$= 1 + U_1(t)w(z) + U_2(t)w^2(z) + \dots$$
(5)

By using the binomial expansion on the left-hand side of (5) subject to the condition

$$\left|\sum_{n=2}^{\infty}a_nz^n\right|<\alpha.$$

Upon simplification, we obtain

$$(1-\lambda)(1+\sum_{n=2}^{\infty}a_nz^{n-1})\left(\frac{1}{1+\sum_{n=2}^{\infty}\alpha a_nz^{n-1}}\right)+\lambda(1+\sum_{n=2}^{\infty}na_nz^{n-1})\left(\frac{1}{1+\sum_{n=2}^{\infty}\alpha a_nz^{n-1}}\right)$$

$$= 1 + U_1(t)w(z) + U_2(t)w^2(z) + \dots , (6)$$

$$(1-\lambda)(1+\sum_{n=2}^{\infty}a_nz^{n-1})+\lambda(1+\sum_{n=2}^{\infty}na_nz^{n-1})=\left[1+\mathrm{U}_1(t)w(z)+\mathrm{U}_2(t)w^2(z)+\ldots\right](1+\sum_{n=2}^{\infty}\alpha a_nz^{n-1}). \tag{7}$$

Using the series expansion of $1 + \sum_{n=2}^{\infty} \alpha a_n z^{n-1}$, also for some analytic function w such that w(0) = 0 and

$$|w(z)| = |c_1 z + c_2 z^2 + c_3 z^3 + \dots| < 1, \quad (z \in \mathcal{U})$$
(8)

where

$$|c_j| \le 1, \quad j \in \mathbb{N} = 1, 2, 3, \dots$$
 (9)

From the equalities (8) and (9), we obtain that

$$1 + a_2 z^1 + a_3 z^2 + a_4 z^3 + \dots + \lambda a_2 z^1 + 2\lambda a_3 z^2 + \dots = \left[1 + U_1(t)c_1 z + (U_1(t)c_2 + U_2(t)c_1^2)z^2 + \dots\right]$$

$$\times (1 + \alpha a_2 z^1 + (\alpha a_3 + \frac{\alpha(\alpha - 1)}{2!}a_2^2)z^2 + \dots),$$

$$1 + a_2 z^1 + a_3 z^2 + a_4 z^3 + \dots + \lambda a_2 z^1 + 2\lambda a_3 z^2 + \dots = 1 + U_1(t)c_1 z^1 + (U_1(t)c_2 + U_2(t)c_1^2)z^2 + \alpha a_2 z^1$$

$$+\alpha a_2 \mathbf{U}_1(t)c_1 z^2 + \alpha a_2 (\mathbf{U}_1(t)c_2 + \mathbf{U}_2(t)c_1^2)z^3 + (\alpha a_3 + \frac{\alpha(\alpha - 1)}{2!}a_2^2)z^2 + \dots$$
 (10)

It follows from (10), we get

$$a_2 + \lambda a_2 = \alpha a_2 + \mathbf{U}_1(t)c_1,$$

$$a_2 = \frac{U_1(t)c_1}{1+\lambda-\alpha}. (11)$$

From (3) and (11), we have

$$|a_2| \le \frac{2t}{1+\lambda-\alpha}.\tag{12}$$

Now, in order to find the bound on $|a_3|$, from (10), we have

$$a_3(1+2\lambda-\alpha) = \alpha U_1(t)a_2c_1 + \frac{\alpha(\alpha-1)}{2!}a_2^2 + U_1(t)c_2 + U_2(t)c_1^2.$$
(13)

By using (11) in (13), we get

$$a_{3} = \left\{ U_{1}(t)c_{2} + \left[\frac{\alpha U_{1}^{2}(t)}{1 + \lambda - \alpha} + \frac{\alpha(\alpha - 1)U_{1}^{2}(t)}{2(1 + \lambda - \alpha)^{2}} + U_{2}(t) \right] c_{1}^{2} \right\} \frac{1}{1 + 2\lambda - \alpha'}$$

$$= \left\{ U_{1}(t)c_{2} + \left[\frac{[2\alpha(1 + \lambda - \alpha) + \alpha(\alpha - 1)]U_{1}^{2}(t)}{2(1 + \lambda - \alpha)^{2}} + U_{2}(t) \right] c_{1}^{2} \right\} \frac{1}{1 + 2\lambda - \alpha}.$$

$$(14)$$

Furthermore, by applying (3) in (14), we obtain

$$|a_{3}| \leq \frac{2t}{1+2\lambda-\alpha} + \frac{4\alpha t^{2} - 4\alpha^{2}t^{2} + 8\alpha\lambda t^{2}}{2(1+\lambda-\alpha)^{2}(1+2\lambda-\alpha)} + \frac{4t^{2} - 1}{1+2\lambda-\alpha'},$$

$$= \frac{2\alpha t^{2}}{(1+\lambda-\alpha)^{2}} + \frac{4t^{2} + 2t - 1}{1+2\lambda-\alpha}.$$
(15)

The proof is complete.

Theorem 3.2. Let f(z) given by (1) belongs to the class $\mathcal{N}(\alpha, \lambda, t)$ and for any $\mu \in \mathbb{C}$. Then

$$|a_{3} - \mu a_{2}^{2}| \leq \begin{cases} \frac{2t}{1+2\lambda - \alpha'} & \mu \in [\mu_{1}, \mu_{2}], \\ \left| \frac{4t^{2} - 1}{(1+2\lambda - \alpha)} + \frac{2\alpha t^{2}}{(1+\lambda - \alpha)^{2}} - \mu \frac{4t^{2}}{(1+\lambda - \alpha)^{2}} \right| & \mu \notin [\mu_{1}, \mu_{2}], \end{cases}$$

$$(16)$$

where

$$\mu_1 = \frac{(1+\lambda-\alpha)^2(4t^2-2t-1) + (2\alpha t^2 - 2\alpha^2 t^2 + 4\alpha\lambda t^2)}{4t^2(1+2\lambda-\alpha)},$$

$$\mu_2 = \frac{(1+\lambda-\alpha)^2(4t^2+2t-1)+(2\alpha t^2-2\alpha^2 t^2+4\alpha\lambda t^2)}{4t^2(1+2\lambda-\alpha)}.$$

All of the inequalities are sharp.

Proof:

From (11) and (14), we have

$$|a_{3} - \mu a_{2}^{2}| = \left| \frac{1}{1 + 2\lambda - \alpha} \left\{ U_{1}(t)c_{2} + \left[\frac{\alpha U_{1}^{2}(t)}{1 + \lambda - \alpha} + \frac{\alpha(\alpha - 1)U_{1}^{2}(t)}{2(1 + \lambda - \alpha)^{2}} + U_{2}(t) \right] c_{1}^{2} \right\} - \mu \frac{U_{1}^{2}(t)c_{1}^{2}}{(1 + \lambda - \alpha)^{2}} \right|.$$

$$|a_{3} - \mu a_{2}^{2}| = \frac{U_{1}(t)}{1 + 2\lambda - \alpha} \left| c_{2} + \left[\frac{U_{2}(t)}{U_{1}(t)} + \frac{\alpha U_{1}(t)}{1 + \lambda - \alpha} + \frac{\alpha(\alpha - 1)U_{1}(t)}{2(1 + \lambda - \alpha)^{2}} - \mu \frac{U_{1}(t)(1 + 2\lambda - \alpha)}{(1 + \lambda - \alpha)^{2}} \right] c_{1}^{2} \right|.$$

Then, in view of Lemma 2.1 for all $\mu \in \mathbb{C}$, we conclude that

$$|a_3 - \mu a_2^2| \le \frac{U_1(t)}{1 + 2\lambda - \alpha} \max \Big\{ 1, \frac{1}{U_1(t)} \Big| U_2(t) + \frac{\alpha U_1^2(t)}{1 + \lambda - \alpha} + \frac{\alpha(\alpha - 1)U_1^2(t)}{2(1 + \lambda - \alpha)^2} - \mu \frac{U_1^2(t)(1 + 2\lambda - \alpha)}{(1 + \lambda - \alpha)^2} \Big| \Big\}. \tag{17}$$

Finally, by using equalities (3), we get

$$|a_{3} - \mu a_{2}^{2}| \leq \frac{2t}{1 + 2\lambda - \alpha} \max \left\{ 1, \left| \frac{4t^{2} - 1}{2t} + \frac{2\alpha t}{(1 + \lambda - \alpha)} + \frac{\alpha(\alpha - 1)t}{(1 + \lambda - \alpha)^{2}} - \mu \frac{2(1 + 2\lambda - \alpha)t}{(1 + \lambda - \alpha)^{2}} \right| \right\}.$$

$$= \frac{2t}{1 + 2\lambda - \alpha} \max \left\{ 1, \left| \frac{4t^{2} - 1}{2t} + \frac{2\alpha(1 + \lambda - \alpha)t + \alpha(\alpha - 1)t}{(1 + \lambda - \alpha)^{2}} - \mu \frac{2(1 + 2\lambda - \alpha)t^{2}}{(1 + \lambda - \alpha)^{2}} \right| \right\}.$$

$$= \frac{2t}{1 + 2\lambda - \alpha} \max \left\{ 1, \left| \frac{4t^{2} - 1}{2t} + \frac{\alpha(1 + 2\lambda - \alpha)t}{(1 + \lambda - \alpha)^{2}} - \mu \frac{2(1 + 2\lambda - \alpha)t}{(1 + \lambda - \alpha)^{2}} \right| \right\}.$$

$$(18)$$

Because t > 0, we have

$$\left|\frac{4t^2-1}{2t} + \frac{\alpha(1+2\lambda-\alpha)t}{(1+\lambda-\alpha)^2} - \mu \frac{2(1+2\lambda-\alpha)t}{(1+\lambda-\alpha)^2}\right| \le 1$$

$$\Longleftrightarrow \left\{ \tfrac{(1+\lambda-\alpha)^2(4t^2-2t-1)+(2\alpha t^2-2\alpha^2t^2+4\alpha\lambda t^2)}{4t^2(1+2\lambda-\alpha)} \leq \mu \leq \tfrac{(1+\lambda-\alpha)^2(4t^2+2t-1)+(2\alpha t^2-2\alpha^2t^2+4\alpha\lambda t^2)}{4t^2(1+2\lambda-\alpha)} \right\}$$

 \iff { $\mu_1 \le \mu \le \mu_2$ }. Moreover, in this case

$$|a_3 - \mu a_2^2| = \left| \frac{4t^2 - 1}{(1 + 2\lambda - \alpha)} + \frac{2\alpha t^2}{(1 + \lambda - \alpha)^2} - \mu \frac{4t^2}{(1 + \lambda - \alpha)^2} \right|$$

The proof is complete \Box

If we taking $\lambda = 0$ in Theorem 3.2, we get the next Corollary.

Corollary 3.3. Let f(z) which defined by (1) belongs to the class $\mathcal{N}(\alpha, t)$. Then

$$|a_2| \le \frac{2t}{1-\alpha}$$

and

$$|a_3| \le \frac{2\alpha t^2}{(1-\alpha)^2} + \frac{4t^2 + 2t - 1}{1-\alpha}.$$

and for any $\mu \in \mathbb{C}$,

$$|a_3 - \mu a_2^2| \le \begin{cases} \frac{2t}{1-\alpha'}, & \mu \in [\mu_1, \mu_2], \\ \frac{4t^2 - 1}{(1-\alpha)} + \frac{2\alpha t^2}{(1-\alpha)^2} - \mu \frac{4t^2}{(1-\alpha)^2} \end{cases} \qquad \mu \notin [\mu_1, \mu_2],$$

$$(19)$$

where

$$\mu_1 = \frac{(1-\alpha)^2(4t^2-2t-1) + (2\alpha t^2 - 2\alpha^2 t^2)}{4t^2(1-\alpha)},$$

$$\mu_2 = \frac{(1-\alpha)^2(4t^2+2t-1)+(2\alpha t^2-2\alpha^2 t^2)}{4t^2(1-\alpha)}.$$

All of the inequalities are sharp.

If $\alpha = 0$ in Theorem 3.2, we get the next Corollary.

Corollary 3.4. Let f(z) which defined by (1) belongs to the class $\mathcal{N}(\lambda, t)$. Then

$$|a_2| \le \frac{2t}{1+\lambda}$$

and

$$|a_3|\leq \frac{4t^2+2t-1}{1+2\lambda}.$$

and for any $\mu \in \mathbb{C}$,

$$|a_3 - \mu a_2^2| \le \begin{cases} \frac{2t}{1+2\lambda}, & \mu \in [\mu_1, \mu_2], \\ \left| \frac{4t^2 - 1}{(1+2\lambda)} - \mu \frac{4t^2}{(1+\lambda)^2} \right| & \mu \notin [\mu_1, \mu_2], \end{cases}$$
(20)

where

$$\mu_1 = \frac{(1+\lambda)^2(4t^2-2t-1)}{4t^2(1+2\lambda)},$$

$$\mu_2 = \frac{(1+\lambda)^2(4t^2+2t-1)}{4t^2(1+2\lambda)}.$$

All of the inequalities are sharp.

Taking $\lambda = 1$ in Theorem 3.2, we get the next Corollary.

Corollary 3.5. Let f(z) which defined by (1) belongs to the class $\mathcal{N}(\alpha, t)$. Then

$$|a_2| \le \frac{2t}{2-\alpha}$$

and

$$|a_3| \leq \frac{2\alpha t^2}{(2-\alpha)^2} + \frac{4t^2 + 2t - 1}{3 - \alpha}.$$

and for any $\mu \in \mathbb{C}$,

$$|a_3 - \mu a_2^2| \le \begin{cases} \frac{2t}{3-\alpha'}, & \mu \in [\mu_1, \mu_2], \\ \left| \frac{4t^2 - 1}{(3-\alpha)} + \frac{2\alpha t^2}{(2-\alpha)^2} - \mu \frac{4t^2}{(2-\alpha)^2} \right| & \mu \notin [\mu_1, \mu_2], \end{cases}$$
(21)

where

$$\mu_1 = \frac{(2-\alpha)^2(4t^2 - 2t - 1) + (6\alpha t^2 - 2\alpha^2 t^2)}{4t^2(3-\alpha)},$$

$$\mu_2 = \frac{(2-\alpha)^2(4t^2+2t-1)+(6\alpha t^2-2\alpha^2t^2)}{4t^2(3-\alpha)}.$$

All of the inequalities are sharp.

Taking $\alpha = 1$ in Theorem 3.2, we get the next Corollary.

Corollary 3.6. Let f(z) which defined by (1) belongs to the class $\mathcal{N}(\lambda, t)$. Then

$$|a_2| \le \frac{2t}{\lambda}$$

and

$$|a_3| \le \frac{2t^2}{\lambda^2} + \frac{4t^2 + 2t - 1}{2\lambda}.$$

and for any $\mu \in \mathbb{C}$,

$$|a_3 - \mu a_2^2| \le \begin{cases} \frac{t}{\lambda}, & \mu \in [\mu_1, \mu_2], \\ \frac{4t^2 - 1}{2\lambda} + \frac{2t^2}{\lambda^2} - \mu \frac{4t^2}{\lambda^2} \end{cases} \qquad \mu \notin [\mu_1, \mu_2],$$

$$(22)$$

where

$$\mu_1 = \frac{\lambda^2 (4t^2 - 2t - 1) + 4\lambda t^2}{8\lambda t^2},$$

$$\mu_2 = \frac{\lambda^2 (4t^2 + 2t - 1) + 4\lambda t^2}{8\lambda t^2}.$$

All of the inequalities are sharp.

Taking $\alpha = 1$ and $\lambda = 1$ in Theorem 3.2, we get the next Corollary.

Corollary 3.7. Let f(z) which defined by (1) belongs to the class $\mathcal{N}(t)$. Then

$$|a_2| < 2t$$

and

$$|a_3| \le 4t^2 + t - \frac{1}{2}.$$

and for any $\mu \in \mathbb{C}$,

$$|a_3 - \mu a_2^2| \le \begin{cases} t, & \mu \in [\mu_1, \mu_2], \\ \left| \frac{4t^2 - 1}{2} + 2t^2 - 4\mu t^2 \right| & \mu \notin [\mu_1, \mu_2], \end{cases}$$
(23)

where

$$\mu_1 = \frac{8t^2 - 2t - 1}{8t^2},$$

$$\mu_2 = \frac{8t^2 + 2t - 1}{8t^2}.$$

Theorem 3.8. A function f(z) be defined by (1) belong to the class $\mathcal{N}(\alpha, \lambda, t)$ if there exists a function $q \in \mathcal{N}(\alpha, \lambda, t)$, q(z) < H(z, t), and $\alpha = 1$ such that

$$f(z) = \exp \int_0^z \frac{q(u) + \lambda - 1}{\lambda u} du.$$
 (24)

Proof: If $f \in \mathcal{N}(\alpha, \lambda, t)$, then there exists a function w(z) with w(0) = 0 and |w(z)| < 1, for all $z \in \mathcal{U}$ such that

$$(1-\lambda)\Big(\frac{f(z)}{z}\Big)^{1-\alpha} + \lambda \frac{zf'(z)}{f(z)}\Big(\frac{f(z)}{z}\Big)^{1-\alpha} = H(w(z),t) := q(z).$$

Since $\alpha = 1$, we have

$$(1 - \lambda) + \lambda \frac{zf'(z)}{f(z)} = H(w(z), t) := q(z).$$
 (25)

$$\lambda \frac{zf'(z)}{f(z)} = q(z) + \lambda - 1. \tag{26}$$

Now, q(z) < H(z, t) and the equality (26) can be easily obtained

$$\left\{\log f(z)\right\}' = \frac{q(z) + \lambda - 1}{\lambda z}.$$

Then, we get the integration in the equation (24). Thus, it is complete the proof of Theorem.

Corollary 3.9. *Let* $\lambda \in \mathbb{C}$, $0 \le \alpha \ne 1$ *and* $Re\{\lambda\} \ge 0$. *Then*

$$\mathcal{N}(\alpha, \lambda, t) \subset \mathcal{N}(\alpha, 0, t)$$
.

Proof: Let $f(z) \in \mathcal{N}(\alpha, \lambda, t)$. Then

$$(1-\lambda)\left(\frac{f(z)}{z}\right)^{1-\alpha} + \lambda \frac{zf'(z)}{f(z)} \left(\frac{f(z)}{z}\right)^{1-\alpha} < H(z,t) := \frac{1}{1-2tz+z^2}.$$

If we impose the value of $\lambda = 0$, we have

$$\left(\frac{f(z)}{z}\right)^{1-\alpha} < H(z,t) := \frac{1}{1-2tz+z^2}.$$

Thus mean that $f(z) \in \mathcal{N}(\alpha, 0, t)$. Therefore, we get $\mathcal{N}(\alpha, \lambda, t) \subset \mathcal{N}(\alpha, 0, t)$.

Theorem 3.10. *Let* $0 \le \lambda_1 \le \lambda_2$, $\alpha \ne 1$, and $\frac{1}{2} < t_1 \le t_2 \le 1$. *Then*

$$\mathcal{N}(\alpha, \lambda_2, t_2) \subset \mathcal{N}(\alpha, \lambda_1, t_1).$$

Proof: Suppose that $f(z) \in \mathcal{N}(\alpha, \lambda_2, t_2)$, we get $f(z) \in \mathcal{A}$ and

$$(1 - \lambda_2) \left(\frac{f(z)}{z}\right)^{1-\alpha} + \lambda_2 \frac{zf'(z)}{f(z)} \left(\frac{f(z)}{z}\right)^{1-\alpha} < H(z,t) := \frac{1}{1 - 2t_2 z + z^2}.$$
 (27)

Since $\frac{1}{2} < t_1 \le t_2 \le 1$. Therefore, it follows form Lemma 2.2 we get

$$(1 - \lambda_2) \left(\frac{f(z)}{z}\right)^{1 - \alpha} + \lambda_2 \frac{zf'(z)}{f(z)} \left(\frac{f(z)}{z}\right)^{1 - \alpha} < H(z, t) := \frac{1}{1 - 2t_1 z + z^2}, (z \in \mathcal{U}).$$
 (28)

That is $f(z) \in \mathcal{N}(\alpha, \lambda_2, t_1)$. Furthermore, Theorem 3.10 is proved when we impose $\lambda_1 = \lambda_2 \ge 0$.

When $\lambda_2 > \lambda_1 \ge 0$, then we can see form Corollary 3.9, that $f(z) \in \mathcal{N}(\alpha, 0, t_1)$,

then

$$\left(\frac{f(z)}{z}\right)^{1-\alpha} < H(z,t) := \frac{1}{1 - 2t_1 z + z^2}.$$
 (29)

But

$$(1 - \lambda_1) \left(\frac{f(z)}{z}\right)^{1 - \alpha} + \lambda_1 \frac{zf'(z)}{f(z)} \left(\frac{f(z)}{z}\right)^{1 - \alpha} = (1 + \frac{\lambda_1}{\lambda_2}) \left(\frac{f(z)}{z}\right)^{1 - \alpha}$$

$$-\frac{\lambda_1}{\lambda_2}\Big[(1+\lambda_2)\Big(\frac{f(z)}{z}\Big)^{1-\alpha}-\lambda_2\frac{zf'(z)}{f(z)}\Big(\frac{f(z)}{z}\Big)^{1-\alpha}\Big].$$

Clearly that $h(z) = \frac{1}{1-2t_1z+z^2}$, is analytic and convex in \mathcal{U} , therefore, from

Lemma 2.3 and differential subordination (28) and (29), we get

$$(1-\lambda_1) \Big(\frac{f(z)}{z}\Big)^{1-\alpha} + \lambda_1 \frac{zf'(z)}{f(z)} \Big(\frac{f(z)}{z}\Big)^{1-\alpha} < \frac{1}{1-2t_1z+z^2}.$$

We conclude that $f(z) \in \mathcal{N}(\alpha, \lambda_1, t_1)$. Thus we get

$$\mathcal{N}(\alpha, \lambda_2, t_2) \subset \mathcal{N}(\alpha, \lambda_1, t_1).$$

References

- [1] S. Altnkaya and S. Yalcin, On the Chebyshev polynomial coefficient problem of some subclasses of bi-univalent functions, Gulf journal of Mathematics, 5(3) (2017) 34-40.
- [2] S. Altinkaya and S. Yalcin, On The Chebyshev Polynomial Bounds for class of univalent functions, Khayyam J. Math, vol 2 no. 1 (2016) 1-5.
- [3] R. Bucur, L. Andrei, D. Breaz, Coefficient Bounds and Fekete-Szegö Prob- lem for a Class of Analytic Functions Defined by Using a New Differential Operator, Applied Mathematical Sciences, vol. 9 (2015) 1355-1368.
- [4] S. Bulut, N. Magesh and C. Abirami, A Comprehensive Class of Analytic Bi-univalent functions by means of Chebyshev Polynomials, Journal of Fractional Calculus and Applications, vol. 8, no. 2 (2017) 32-39.
- [5] S. Bulut, N. Magesh and V. K. Balaji, Initial Bounds for Analytic and Bi-univalent functions by means of Chebyshev Polynomials, Journal of Classical Analysis, vol. 11, no. 1 (2017) 83-89.
- [6] J. Dziok, R. K. Raina and J. Sokol, Application of Chebyshev polynomials to classes of analytic functions, elsevier, vol. 353, no. 5 (2015) 433-438.
- [7] P. L. Duren, Univalent Functions, Grundlehren der Mathematishen Wissenschaften 259, Springer-Verlag (1983).
- [8] R. El-Ashwah, S. Kanas, Fekete-Szegö Inequalities for Quasi- Subordination Functions Classes of Complex Order, Kyungpook Math. J., vol. 55 (2015) 679-688.
- [9] M. Fekete and G. Szegö, Eine Bemerkung ber Ungerade Schlichte Funk-tionen, Journal of the London Mathematical Society, vol. 2 (1933) 85-89.
- [10] H. Ö. Güney, Initial Chebyshev Polynomial Cofficient Bound Estimates for Bi-Univalent Functions, Acta Universitatis Apulensis, no. 47 (2016) 159-165.
- [11] F. R. Keogh and E.P. Merkes, A coefficient inquality for certain classes of analytic functions, Proc. Amer. Math. Soc., no. 20 (1969) 8-12
- [12] S. Kanas and H.E. Darwish, Fekete-Szegö problem for starlike and convex functions of complex order, Appl. Math. Let. no. 23 (2010) 777-782.
- [13] S. S. Kumar, V. Kumar, On Fekete-Szegö Inequality for Certain Class of Analytic Functions, Acta Universitatis Apulensis, no. 37 (2014) 211-222.
- [14] M. S. Liu, On a subclass of p-valent close-to-convex functions of order β and type α , Journal of Mathematical Study, vol. 30, no. 1,(1997) 102-104.
- [15] M. S. Liu, On certain class of analytic functions defined by differential subordination, Acta Mathematica Scientia B, vol. 22, no. 3 (2002) 388-392.
- [16] C. Ramachandran and K. Dhanalakshmi, Fekete-Szegö inequality for subclasses of analytic functions bounded by chebyshev polynomial, Global Journal of Pure and Applied Mathematics, vol. 13, no. 9 (2017) 4953-4958.
- [17] E. T. Whittaker and G. N. Watson, A Course of Modern Analysis. An introduction to the general theory of infinite processes and of analytic functions; ZAMM Journal of Applied Mathematics and Mechanics / Zeitschrift fr Angewandte Mathematik und Mechanik, Volume 43, Issue 9 (1963) Page 435.